Levkopoiesis leads 1o the formintion of
(A) Granulocyte, L}rmnhucytr.

Monocyie
(B] Erythrocyte, Lymphocyte, B
Monocyle EE
[C] Monocyte, Granulocyte,
Erythrocyte

(D) None of the above
(F] Not attempted

The deficiency of Vitamin D causes
(A) Goitre (H) Rickets

(C) Beri-beri (D) Scurvy

(E) Not attempted

Which of the following converts
inactive prothrombin into active
thrombin in the presence of calcium
ions ?

(A] Heparn

(B) Thromhoplastin

(C} Fibrin

(1) Fibnnogen

(E} Not attempted

Which is an anticoagulant preferred
for Complete Blood Count (CIC)
determination 7

(A) Heparin

(B) Sedium fluoride

(€) Dipotassium EDTA

(D) Sodium citrate

(K} Not altempted

allows you 1o input
commands without typing long strings
of characters or navigating menus or
dialop boxes,

[A) Enter key

(C) ESC key

(E) Not attempted

(D) CTRL key
(D) Function key

R

HSSC CET Mains MPHW Question Paper 7 Jan 2024

CG - MH23

¢ il fm S e 7

() Deirrsz, fermmitame, Hlcin el

(1) iz, favmmmee, g o
(C) e, eiense, fnimm

O SR E e

(E) 3menfem

fFrefm bR wh @ AR |
(A) = (1) fishzm

(C) ah-af (D) =i

(E) smmfem

Frafefea 0 3 - S s
1 3fEufy i fiferg wenfram ) af
uife A uitaffa aw 2m ¢ ¢

(A) #f

(B) W

(C) w3

(D) W

(E] 3ty

T T Tz (dAah.) futor
fem, wardtay emerr —<infi - 2 5

(A) BT

(B) #femm iz

(C) =EIeimmy § 41 A0,
(D) Wfzam wrgie %
[E) 31 e

. SITE & 1w

@qajqufqmmﬁimmiﬂﬂﬁﬂ
F Az favw o aniz g w0 6

aufa et ¥ |

=

{A) Enter &1 (3] CTRL
C} ESC ! (D) Fw
(E}) Ftam
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10.

fi
HEHET results in

:::] Vitamin D
Plog I Vitamin B

[}
IE] ot B’H:mpted ] nﬂ-ﬂg:

Which ig the ki gh
India ?

(A) Kunchikal watergayyg
(B) Nohkalikai waterful(s
(C) Barchipani waterfalls
(D) None of the above
(E} Not attempted

e5l waterfall in

A reduction below normal level in the
concentration of hemoglobin or red
blood cells in blood is known as

(A) Thalassemia

(B) Anemia

(C] Pneumonia

(D) sickle cell hemoglobin

(E) Not attempted

10.

CG - MH23

Foems Bt o6y sy 3y 30y oy 51 8 2

(A) Pz ¢ () fazrfier D
() Faafes A (n) fafm B
(E) 31ritgq

HGFR s e 35 e A 7
(A) Firs form

[B) it ufity

(€) 7§ T

(D) W= &g

(E] v

e v i (e ) fe e A
T o v (§7E) FAOR
[A) ThE

[C) =T
(E) wafaq

YT T TR S S SA-a 7
(A) Hiawe FeayE

(B) Argmierard weaam

(C) T FeTI

(D) IFfF & A = Tl

(E) 3nrfira

= § FErEiaR T e W R
£ ariza & AW Ew A Jr 6w

HEATRT &

(A) Fefn Eﬁ
AB) THifTE :

(c) F=iFmn

(D) foel Te Enivenfan

(E) sraafam
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11.

13.

13.

14,

15,

-

Chamber preasure for nutoclnve ia
(A} S0 I per square inch
i) 10 1L per aqunre inclh
(C) 25 Iy per square inch
(1) 15 Ib per square inch

[17) Not attempted

uE

The famous Bagh Caves' are located in
(A] Chhnttisparh

(13) Uttar P'raclesh

(C) Jharkhand

(1) Madhya I'radesh

(E) Not attempled

CPR stands for

(A) Cardio Protective Resuscitation
(B} Cardio I'ulmonary Resuscitation
(C) Cardio Primary Resuscitation
{13) None of the above

(E] Not attempted

is a specific charncter
string that constitutes a reference to

i resource.
(A) Simple Mail Transfer Protocol

{B) Hyper Text Tronsfer Protocol

(C] Domain Name System
D) Uniform Resource Locatar

(E) Not attempted

Normal value of hasmoglobin in
womer is

(A) 12 - 18 g/dl

(B] 12 - 16.5 g/dI

(Cl 10-12 g/dl

(D) B.5-12 g/ar

(£} Not atternpled

11.

12.

13.

-
o

()

16.

CG - MH!E
T & oy <
[A) 507 afy 1;:::' g:.,?m ;
(B) 10 iz oty of oo
(C) 2573 fy of
(N) 15t ufa i -
(E] ¥afem

Wi g

A) Oy
(B) Tt sy

(©)

(P) 7 5

(E) stwmfay

(A) TR sz frnfaes
{4) *ﬁhmmmﬂ

(C) FEN wrenfy frasfesgzmry

(D) 375 & & 57 =

(E) 3rrfam
————— T fofire $m g 2,
Mmﬁ%ﬁﬁﬁmﬁnﬁmh
(A T 9 g e

(B) ¥3T 42 7T Siosra

(C) = 9 s

(D) gFTwit freim S

(E) 37w

afgenaii & femaifa = aee e
(A) 12-18 g/dl
M} 12 -16.5 g/dl
(C) 10-12 g/dl
(D) B.5-12 g/dl
(E) ToiET
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16.

17.

1B.

19.

20.

Wy =rpe g . dy
at x = 1 4y Jand [ [3) = &, {hen it
(A) 15 -
LA o) a5

E
(=) Net H'I'.tumpwd Eé!ﬁ s
Which of the Dllowing tegty iy

performed by using ¢
(A) Denpue B EDTA blood ?
(R} Hematoerit

(C} Lipid profily

(D) Reactive protein

(E) Nut attempted

The vaccine which is piven tq prevent
tuberculosis is

(A) TD

(C} DPT

(E) Not attempted

(B) Tr
D) BCG

Find the value of x.

13 12 5
17 | 15 B |
25 | 28 | x
25 21 20
(A) 11 (B) 15
<7 (D} 9

(E} Not attempted

Who is the father folII_LI:._HEE_Ec:
surgery ?

(A) Joseph Lister

(B) Robert Koch

{C) Paul Ehrlich

{I3) Antony Van Leeuwenhock

(E) Not attempted

16.

&

CcG - MH23

“F":}"fl'x"rm:&-'nﬂ_a]-ﬁ.?ﬁ:"1

ly
LT o P
{A) 15 (B 10
i) 5 (1) 25
(E) 3nmfuq

361,810, T g Ty w0E T
it 8 F¥-i wle A # 7

(A) B,
(3) FhérR
(c) fafrz v
(L) wlafrmis e
(E}) Fwanfaa
18. &t @ Wy & ferg w1 Zrel RAn =T
by
(A) TD (B TT
{C) DPT W} BCG
) amarfan
(E) - %__.
(Is) xmiop ot s q
b IR IFEIY T § % -
=1 17 « _.]5HI _.B'ﬂ.{ T
gos [ = o 9
wuif 20 ] 2174 20 @
(A] 11 B) 15
7 (D) 9 % VS
(E] Fwfaa -:_-LL;J
20, UGEEF FH F T R 7 I‘l
. .
lﬁl 3*“ i _IERE{ o _{ ’r‘_“.‘
(B) TEL &I - T I""L!
(C) Tie ufer
(D) T & T o 4
(E) Wwnfea \
S/
2 \
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21.

23.

24.

2s.

D

B

Fivat nid kit should enntain

(A) Antiseplica
(13) Scissors and forceps

C) ftandages o)
(] All of the above %
(1) Mot attempted =) il
which number will come {11 the place
of qu::at'iﬂl'l mark ?

198, 194, 185, 169, ?

(A) 136 (B3) 144

(€) 92 D) 112

(E) Nuot attempied

parasites with bile stained eggs arc
(A) Anchylestoma duocdenale
} Trichuris Trichiura
() Giardia lamblia
(D] Entamoeba histolytica
(E] Not attempted

Which are the only cell type present
in normal semen 7P

{A) Merozoa (B} Erythrozoa
(C) Sporozoa (D) Spermatozoa
(E] Not attempted

Choose the mirror image of the
following figure.

(A (B)

() (D)

]| =<

(E} Not attempted

21.

S

e

-

£

4
G

/) b ) ”J{r' Fj"
f T
frrm {lf" LI o o R
i grrmﬁ;;" R A
1 0 3
(€l qf;’?’__' L
D) 39EF m)
j[I-:]l e
UL S R L ST P
42 W,Efi*?ﬁﬁqsqﬁq_ﬁ e
O !?fﬁ‘.:-l-éf-%g;] 69, 7 ey
(A 36 3 e T
(C) 92
D 1
0 w2 |
et & 29 4 -
(A) e meﬁmg A
(B) R
(C) Framfn Aty [70
D) Rﬂﬂ‘f‘ fﬂ?ﬁfﬁﬁw |
(E) I 165
A 3 s e e
T-h’l'-r-_m;? RIS ! mg’:}
M) I 5y o
(C) PEN () wesan
(E) Fwmiae

25. Freiefen fa w i o <fa

(A)

|
| |
..,LE']"
)
] (D) m
L N
T

A
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B

Ry ¢ - MR23
25‘- 111E' i E -
iy m:’::rnu Iny Which my e or medinm @ R uhEn P w2 wream @ i) ET
ree of \
is called Svad ot & HTFT'H:FI?JT AT Y, aR R R
(A) Dfﬂil:fcr:jun 1A ?ﬁm'ﬂ’*"“?
(B) Sterilisatipy, (B) Sy
(C) Antisepticy [C) vfeafes
(D) -'":Rﬂpais (D) whftm
(E) Not attempteq (E) St
27. Whi . . .
u:—uch of the fﬂuﬂ“"m?. is an example 27, Trafaias § o9 -4 w =
Eranulocyte P Tt 3 ] sl
1 L]
Al L -
(A) Lymphocyte iA) foreriamse
(B] Monocyte &)
(C) Neutruphil ©} ;.E}ﬁﬁ
{13 None of the abave (D} :{qﬁrf.'ﬂ R a.f'rg TET
(E] Not attempted (F) anmfim
2B. Jhajjar district of Haryana was earlier e =1 T B uee 3 fae =
part of this distrier VT ot
(A) Rohtak (B) Rewari (A) TEa® (B)
(C) Sirsa (M) Hisar (c) e () fem
(E) Not attempted (F) Fwafaa
29, Which of the following is the job of 29, o= 7 § W fefe | o =
the receptionist at a clinic ? FMR 7
(A} To welcome the patient (A} 0t &1 =|TTE =
(B) To puide the patient (n) Tt E:l A fefa
(C) Repister the patient (C) Tt & T
(D) All of the abave (D) I iy
(E) Not attempted (F) St
30, Total APGAR score is 30. ‘E‘f TSR, TR 7
(A) 10 (B) 9 4""’ 10 (B] 9
(c] 8 D)7 ) 8B () 7
(E) Not attempted () smraiéem
-7- D
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31 7

32.

33.

35.

A Constitution which ean be amended
casily in the SAME way ag {hay of
passing the ordinary laws is known ns

(A) Written Constitution

(3) Unwritten Constitution ICHRO0)
eyl
(=125

() Flexible Constilution
(D) Rigid Constitittion
(E] Not altempted

The causative agent of tnteric fever jg
[A) Proteus

(B) Salmonella typhi

(C] Shigella

(D) Klebsiella

(E] Not attempted

Which of the fﬂllnwing graph is in
circular shape ?

{A) Line chart (B) Pie chart
(C) Histogram (D) Bar chapt
(E) Not attempted

is a network that
connects computers, mobile phones,
tablet, mouse, printer, ete.
a limited distance,

(A] Wide Area Network (WAN)

(B) Metropolitan Area Network (MAN)
(C} Local Arca Networl (LAN)

(D) Particular Area Network (PAN]

(E) Not attempted |

» placed at

Which is an immediate medical
assistance given to a injured person ?
(A) Medication

(B) Antiseptic

C) First aid

(D) None of the above

(E} Not atternpted

nmﬁm fap
=1 qifra Fram =
() ferfe :;qu: L

Iranﬁ,ﬁ
?rw;;?;mﬁ?’ﬁm

(1) Alerfe o
(C) =it iy ey

(D) F3i xf:

(E) mlﬁ;la

32.

@ ﬁqﬁfﬁﬁﬁﬂ‘"ﬁ~mmmﬂ
(A) T3 51 (B) w7 =7

© e ) e

(E) warfaq

U 2% 8, A i T
TE T SR, AT Wi, S, i,
ﬁ'ﬂ‘ e W}W |

(A) 1S i ek (2,0,

(B) FETIfere vien eadh (Ten.e.)
(C) e vt o= (TELNLE)

(D) WiEFgeR i e (fem,)
(E) swartam

mmﬁfﬂmaﬂq%ﬁﬁrﬁhfﬁfm
HEr & =R 7 %

35,

(A) &t

(B) TEETRE

) wrafier fafsen
(D) 37 # & T
(E) HwaTiem
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36.

a7.

38.

39,

40.

41,

Which meyg) in
Trades" 7

(Al Mﬂﬂﬁmmgc
(C)] Iron

(=) Not attempre

Cilled gg “Jyek of all

(3] Gold
D} Alminium

Which of the following iy he
transport medium of Vibrio Cholera ?
(A) Stuart's Medium

(B) Alkaline Peplone watey

(C) Venkatraman Ramakrighnan

Medium
(D) None of the above ERAE
(E) Not attempted [:f'#
The skeleton of the human head is
called
{A) Lacrimal
(C] Maxilla
(E) Not attempted

(B) Palatine
(D) Skull

The first milk secreted by the breuast
is eallerd

(A] Colostrum

(C] Fore milk

(E} Not attempted

(B} Primary milk
(D) Hind milke

Animals with notochord are called
{A) Non-chordatcs

{B) Triplohlasticans

{C) Chordntcs

(D) Invertebrates

(E] Not attempted

Which of the following bacteria grows

in clusters ?
(A) Pneumococei (B} Meninpococo:

{C) Streptococct (D) Staphylococei

(E] Not attempted

36.

a7.

39,

CG - MH23

e vy -
m:’? ‘mht = = A we

(A} Arefra :
p [B) =1

2 (D) e

() wrmfaa

Fesfedteam i & g fafpen e =

iR o &

(Al 23 5y ey

(B] 1 = 7

(C) FFzrm T

(D) 39 & 3 i =1

(E) rmiam

W o & e 1 e TP

Ay A M) e

() A (D} W

(E) 3marfim

T A Frer STe TEET 34 FEe B

(A] Freiregn (B) WA g5

(c) #m 79 (D) T 3T

(E) Faaiam

AT g e & | |

(A) S |

(1) e

(€) T gﬁ

(D) FFIH s

(E) FTarea

et 7 % w7 Awfen Fe il

famfim e & 2 o

(A) TEEE (@) AT

(C) FEFFE (D) =EeEFy

(E) A
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42. Increase in the percenlage of @ = & afimm 5 T2 FEAR
neutroplul is called {A) ?-ET{]TSZTF‘:I'H ‘
(A) Neutroeytosis | F}"ﬁﬂ'm
o) Eosinophilia L N ‘ﬁr;: ﬁ‘
(C) Neutrophilia % €)
(D) Neutropenia (1) —ggrafra
(E) Not attempterd (F) Fwifam
43. Shape of NH, is ;"Q- NI1, T 3TN #
(A} Trigonal pyramida| o 4 () Fmrf fofird
(B) Square pyramjg) (B) T farfrdy
(D) Sec-saw (D) #H-77
(E) Not attempted (E) 3mamfe
#- Which s the lateral and smaller bone | 44. # 1 7 3 61 21 e 2
of the leg ?
(A] Patela ) w&s
(B] Femur 1B 6w
(C) Talus [C] ¢=H
(D) Fibula (D) e
[E) Not attempted (E] 319t
45. Monocytosis is observed in 45. WA ey wm
(A) Whooping cough (A) el @i
(B} Malarin (1) wretfan 3
(C) Asthma (C) = # |
(D) Skin infection (D) 0w igs
(E) Not attemnpted (E) srrmriaa %
46. Il sinx + sin '}r=%,thcn x?= 46, Elﬁam"x*ain"y:%.ﬁ X =
[A) O (B] yl-y (A) O B J1-y
(C) 1-y D) ¥ (C) 1-y D} y?
(E] Not attempted (E) rEréa
-10-
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47.

49,

50.

51.

Infancy Period iy
(A) First 25 dayg of life
(B) Upto 1 year of age
C) 1-4 Yearsy Ufl‘lgc
(D) None of the aboye
(E) Not attempteq

The skull consiggg of how many
bones ?

(A) 22

(C) 28

(E) Not attempted

o]

(B) 42
(D) 32

[z

Iypovolemia is a conditign of
(A) Decreased heart rate

(B) Increased blood volume
(C) Decreased blood volume
(D) Increased heart rate

(E) Not attempted

ir &t _ A Bxuc

x? 41

, then

xex X

cosec! L reot? L +sec1C=
A B i

A = B 7

5n
(€ = (D) 0

(E) Not attempted

Escape of blood from the blood
vessels is known as

(A) Tachycardia

(B)] Hemorrhage

(C) Bradycardia

(D) None of the above

(E) Not attempted

v Lo \
\‘J\
CG - MH23
47. mﬁpﬁ
(A) ey 3; .
(By 173 iiﬁ:'—lfam
(C) l-aafs sy
(D) 30477 5 3 98 sy
(F) Snfay
48.. T i ot it iy 7
W 22 (B) 42
(C) 28 (D) 32
(E) rnfag
49) EIE e & fEafa g
(A) %23 a1 & afy
(B) T 1 mr 4 gfg
C) T & g i A !
(D) & T g |
(E) smwafag
0. afz E*1P _A Bx+C 4
Xix X x241°
cosec ™! i—+ cut‘1%+scc" C=
@ Z |) 7
(© 3 D) 0
(E) 3mwafam ?‘%\‘;}.\:
51. 9 aNEFaN § Wd H Fewer,
HETTAT & | EiiE v\
(A) FremITEm % S
(C) #memifdan
(D) 9 F F
(E) 19T
D \ =
-
VY
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52.

53.

54.

55.

56.

Which is the longest bane of arm ?

(A) Ulna
(C) Clavicle
() Not attempted

(3) Radia)
(D) Humerys

B

Which of the following ig Spore
forming bacteriag ?

(A) Shigella

(3) Clostridium welchj;

{C) Staphylococeug alureys
(D) E.coli

(E) Not attempted

Two discs of same malerial ang
thickness have radii 9 3 and 0.6 m.
Their moment of inertja about their
axes will be in the ratjq

(A) 1:9 B)1:3

(C) 1:81 (D) 1:27

(E) Not attempted

Which of the fn]lowing is an examgple
of RNA Virus ?

(A) Paramyxovirus

(B) Pox virus

(C) Parvovirus

(D) Herpesvirus

(E) Not attempted

Which is the medial bone of the
forearm ?

(A) Ulna

(B) Scapula

(C) Clavicle

(D) Humerus

(E) Not attempted

53.

S5.

-12-

52.

56.

€6 - Mu23
ﬂmiﬁrmwmﬁ?‘m X
(4] S -B) 1
(©) ey fDl?JsT
(E) 3Tamfir
i 3 4 a3
RELE Y s
(A) fariren
(B) Feifesfean deh
(©) R s
(D) §. wrem
(E) I
SR 3 3 werd areh v
mﬂﬂtﬁ.aﬁm.sﬁljfmﬁgﬁ
%WWWWHWW
A) 1:9 (B) 1:3
(C) 1:81 (D) 1:27
(E) s

Peifafaa 3 S9-m smowo, e
B TH I R 7

() JufredErng

(B) wiFw Traw . Ats
(C) e !

(D) TR

(E) 3Twemiam

3T 9 Al v gd F9-w 7
(A] 3ten

(B) THgen
(C) wifaTa
(D) T
(E) arwaifem
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57. Which i8 the

58.

59.

60.

61,

cn
Torulogig ? Hsative funpus of

(A) Aspergilyyg Niger

(B) Culldl'dﬂ Kruse;

- :

(Dl Cryptococeyy Neofarmans
(D) Candidg albicang

(E) Not attempteqg

=

e

TWhich type of mfﬁvatiqn/famliﬂg
1s also known g “Slash and Burn
Agriculture” p

(A) Mixed farming

(B) Plantation farming

(C) Subsistence farming

(D) Shifting Cultivation

(E) Not attempted

How many phalanges are there in
each foot ?

(A) 22

(C) 14

(E) Not attempted

(B) 24
(D) 12

Neurogenic shock is caused due to
(A) Spinal or head injury

(B) Internal bleeding

(C) Severe infection

(D) Severe allergy

(E) Not attempted

Freedom fighter Rao Tula Ram 61.
died in

(A) Nepal (B) Burma

(C) Pakistan (D) Afghanistan

(E) Not attempted
13-

57.

58.

59.

60,

CG - MH23

°'1m"”¥mmzm-m# ?

(B) Hfezy gy

G/ 3 oy e o e S
S F4" 3 o 4 oft e w2 7
(A) Tafym e

(B) F@migy e

(C) Frafe w

(D) T4raia e

(E) smarfm

T T2 # o qreiel €1 8 7

(A) 22 (B) 24

(C) 14
(E) 3T9anfara
=t 7 foeh FRU AT 8 7
) fig 1 ggt o1 fa & |2

(B) Al weamE

(C) TR FwHor

(D) T TSt

(E) Fragiféra E 7

TAEdl FAH T g T H 9y
—_  HEI

(A) 9T (B) =i

(C) wiferem (D) THITTEA
(E) Irwafem

(D) 12
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62,

63.

65,

Which of the following ia an example

of non-projecting visual aid ?
(A) Flannel board

(B) Slide projector [EIAAE
(C) Opaque projector =273

(D) None of the aboye
(IZ) Not atlempted

Number of bones in agyy human
body is
(A) 206
(C) 203
(E} Not attempted

(B) 223
(D) 216

Insufficiency of food or food gap is
chief cause of

(A} Protein Energy malnutrition
(B) Tedine deficiency disorders
(C) Nutritional anemig

(D) Low birth weight

(E) Not attempted

The zonal research center of eastern

agro-climatic zone is situated at
district of Haryana.

(A) Karnal (B) Fatehabad

(C) Jind (D) Hisar

(E) Not attempted

Fall of hematocrit values are abserved
in

(A) Polycythemia

(B) Anemia

(C) Dehydration

(D) Congenital heart disease
(E) Not attempted

CG - MH23

62. Frefelas & & 2y o -
RAIEIE i<y B
(A) RN A
(B) T15% W
(C) I Sy
(D) 374 3 3 7§
(E) i

63. R A wift # wsfagi 1wy 2
A1) 206 (B) 223
(C) 203 (D) 216
(E) 3mfim

64. ﬁmﬁ?ﬂﬁmﬁmmmﬁﬂﬁﬁ
F 2 7
(A) ST St e
cfB) amifen ) =it & 47 ae fawm
(C) Hvam et wifn
(D) P 571 7=
(E) vt

65. TEmmF firet % el Fh—semm
B 1 8t SrEYe e fom 2 |
(&) T
(C) it

OF%iQ
(E) 3rvafirg Bart:
@R

66. @aﬁﬁ%ﬁﬁﬁﬁtﬁz%@w%
(A) UelTraatE |
(B) whfrn §
(€) Frtefimum #
(D) ST e Tm H
(E) sornfm

a7 wm
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67. Which ig (j, -
(A) Paramyyg,, “* Vinie ?
(B) Smﬂ]]pux Virug
(C) Togovirug
(D) Parvoviryg
(E) Not attemppqy

68. Who among t};, l‘onnwingis the first

woman IPS tg become the Police
Commissioner of Gurugram in

1
Fcbruary 2022 »

(A) Geetika Chaudhary
(B) Himanshi Dahiyg
(C) Kala Ramachandran
(D) Sunita Devi

(E) Not attempted

69. Scalds are caused by
(A) Accident (B) Shock
(C) Steam (D) Friction

(E) Not attempted

70. On an average, the birth weight of
healthy babies doubles by

(A) 7 months (B) 9 months
(C) 3 months (D) 5 months

(E] Not attempted

71. Which of the [ollowing is an example
of non-verbal communication ?
(A) LEC'DJ.!'I:
(B) Shaking hand

(C) Discussion

—npt
Bz

(D) Telecommunication

(E) Not attempted

-15-

G67.

Gsl

69.

To.

71,

CG - MH23
T BRI T Fg-m 7
(A Softrrrm
(13) 1= farmm
(C) Mg Ea
(D) AraTaTTY é‘lﬂ
(E) Frrrfir -
Frefafian 1 @ o qeeh afeen
aé.fhum, 4, 5 weal 20225 TR A
gfera s o= 2
(A) Tifamr <had
(B) fewrieht 2fen
(C) el Az
(D) GAten S
(E) 3wEiaa
Thes EHWF’T'E-WT%'
(A) e (B) T
() ¥m (D) =T
(E} THATEa
e fnf e § 9 & @09 H
T 3 S & @ # |
(A) 7 TR (B) 9 W&
(C) 3 TR D) 5 WEH
(E) I

frafafan § & F-w R-dfes T=1
FTHSTE@ R 7

(A) =T

(B) &1y foremn

(C) ==ioi

(D) AR~
(E) ity
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72

73.

74.

75.

t the Seconil Round Table
Conference in 1931, ' .
J"I."'![ﬂ'l {hie reorpnunisation ol th
|IACS | .
samjal houndancs and the separatio
i Punjab.

of the Ambinla Division from
Of s

A

(A) gir Wilhinm Nirdwood
(13) Sir Malcolm [[ailey
() Sir Geollrey Corbert
(D) Sir Aiguilles Rouges

(E) Not attempted

Which of the following Award is
started by Government of India

to promote urban sanitation and
recognise cxcellence performance in
environment sanitation ?

(A] Swachha Bharat Puraskar

(B) Nirmal Shahar Puraskar

(C) Nirmal Gram Puraskar

(D) None of the above

(E) Not attempted

Which is the unpaired cartilage in
larynx ?

(A) Thyroid

(C) Arytcnoid

(E) Not attempted

[B) Comniculate
(D) Cuneiform

Which of the following is not a
communicable disease ?

(A) Tuberculosis and Leprosy
(B} AIDS

(C) Malaria and Filaria

(D) Cancer

(E] Not attempted

73.

=16-

74.

75.

JA) T I e
(B) frf v qreaeme
(€) Frid 1 W
(D) 377 7 § = 7
(E) 3wt

e 1 v R SR 7

o}y
Prferfaa 7§ & -0 G I 6 87
(A) & {m 3t g

(B) TH
(C) TR 3 R

(p) HH
(E) 3TRTRA
ntl
m'?f’rr (’IV
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76,

78.

79.

80.

CG - MH23
— _ina malwne that is crented to 76. ____  ug frerirm E . -
generate revenue for lin developer. feprer & f'-?rur \J ﬁm Y 3 3
A L A= 39 & 3 3
(A) Spyware 13) Adware (A) 'wﬁq;r% |
(C) Keylopgrern (D) None of the above (n) LEC O
. (C) HraAfmi : T
(E) Not ntie (D i i =t
ot nlttempled Eym (E} St ) mfﬂ“
Hemoglobin diluting Myl js é‘%{'ﬂ 77. whmEiRe 2
(A) 0.5N Sulphuric aejg (A) 0.5N q?'ﬂ{f(:ﬁﬁﬂhga
{B) 0.5N Hydrochlorie ocid (B) 0.5N ek :
(C) 0.1N Sulphuric acid (C) D.IN d - )
(D) O.IN Iydrochloric aciq D) 01N ae "“Ii.Wj ufirs
(E) Not attempted 5 ma'ﬁ"ﬂﬁlf{iﬁ ufas
Wester " i
dotttinion 78. A g s Prater & fere s 7
EIGi]
(A) Erythrocyte Sedimentation Rate : 3 SE 3
(ESR) (A) 3fTmge #Riem T E.oE.a)
(B} Packed Cell Volume (Pev) (B) e e (o)
(C) Red Blood Cell (Ri3y (C) B =72 ¥ (e afe,)
(D) Mean Carpuscular Valume (Mcv) (D) i Fifegen e (o..H.)
(E) Naot attempted (E) 3mmafyg
:"Er_mdb HCts as a network 79, ____ G ah R ki Ey Ao
smur}ly mlﬂsﬂfftﬂ" the predefincd w ® 3R wihvifer wean firi 3 anuw
€s, it continuously - 5
monitors and controls the incoming T S e SN 'ﬂﬁi s
and outpoing traffic, R TE ¢ 3k Frdfirm e |
(A) Cookies (B) Firewall (A) Fehrsr (B) ST
(C) Protocols (D) Gateway (C) Ferwia (D) req
(E) Not attempted (E) marfaa
Public Health is also called as 80. HEHAHH WRA HI Wt T
(A) Community Health i # |
(B) Public Medicine {‘;; mﬁmﬁ'm %ﬁg
(C) Community Medicine (C) TR fafan &3
(D} All of the above (D) v wf
(E) Not attempted (E) amaia
-17- D
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B1.

B82.

83.

84.

pIl of the Cercbrosplnal fluid (CSF) is
(A) 7.3-7.4

B) 7.0-7.8
(C) 7.2-7.4 %
(D) 6.9-7.6 B

(E) Not nttempted

Is an exhaustive
scarching technique where every

clement ol a given list is compared
with the item t0 be searched.

(A) Lincar secarch

(B) Sclection sart

[C) Bubble sort

(D) Nonc of the above

(E) Not attempted

Which of the following indicates low
Birth Weight (BW) ?

(A) BW<25kg

{(B) BW =25 kg

(C) BW>2.5kg

(D) Nonec of the above

(E} Not attempled

Which of the following is the Extrinsic
muscle of the tonguc ?

(A) Inferior longitudinal
(B) Transverse

(C) Styloglossus

(D) Superior longitudinal
(E) Not attempted

=-1B-

B1.

B:I

B3.

CG - MH23

AGIENE FEe (om0, #0 plI e
(A) 7.3-7.4

(B) 7.0-7.8

AC) 71.2-74
(D) 6.9-7.6
() Fwmfm

—_— Uk o °Y T R,
<Rl Fireft = 1 o, oy we A
T Ereft = =eft =g W R S R )
() St a4

(B) Tokams =i

(C) o9 |

(D) I | § =rd 7

(E) St
Profafas & 8§ FR-T1 S % g w
T IR AT ? -
JA) BW < 2.5 kg

(B) BW = 2.5 kg

(C) BW > 2.5 kg

(D) T 5 @

(E) Inwiera

84, Peffaa i dSR-AimHragit 7

(&) 3Rhat Sf~egfew
(B) THad
(C) Ria=ay

(D) HitTeR SR
(E) it

e
O}
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85. Abnarmal incrense In urine valume Is
known as
(A) Anuria
(B} Oliguria
(C) Polyuria
[D) None of the nbove
(E) Not attempled

86. The output of the compiler is called
(A] Source code
(B) Data code
{C) Objcct code
(D) None of the above
(E] Not attempted

87. Who among the following is not

included in the member of health

care leam 7

(A) Nursing personnel
(B) Dictician

(C) Physician

(D) Surgeon

(E) Not attempted

88. Persons trained in medicine and
psychology are called
(A) Psychiatrist - EigE
(B) Physiotherapist %%
(C) Dentist

(D) Surgeon
(E) Not attempted

CG - MH23

85. T o rn 4§ sy afy wwend
(A) v
) Sifergean g
BHEs
JE) uitergfen
(D) IT4F 7 A 5 7
(E) Iy
86. TR & ATIzgE F =
TET AT R |
(A) W FIE
(B) T FI
(C) 3=z Fig
(D) S9gad & & Hif &
(E) I
87. Prafafam § § ¥ wmeg T@we 59 5
i e A R 7
(A) TR T
(B) Jmen fads
(c) Tafrems
(D) T
(E) Jrwami

88. fafFammer sik wHikm o il
=fRw _ wwmem R |
_a) wtfafres
(B) Frfmaratdoe
(c) & Fefrea
(D) &=
(&) ST

-19- D
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B9,

91.

Community Ilealth can be nchicved

through

(A) Safe Environment and Education

(B) Well functioning health system
und estnblishing reaponasibility
townrds health

(C) Control of communicalyle and
non-communicable discases

(D) All of the above

(E) Not attempted

&

o Hedld

In Structured Query Language (SQL)
to sclect all the data avaflable in a ’

table, we use which of the following
SELECT statement 7

(A) SELECT *.* FROM table_name;
(B) SELECT FROM table_name;
(C) SELECT all FROM table_name;
(D) SELECT * FROM table_name;
(E] Not attempted

Radio is an example for
(A) Visual aid

(B) Auditory nid

(C) Audio visual aid
(D) Neone of the above
(E) Not attempted

Which of the fellowing is not the
phase of bacterial growth curve ?
(A) Stationary phase

(B} Lig phase

(C) Lag phase

(D) Log phase

(E) Not attempted

89.

90.

91.

2.

CG - MH23

WA Ty 7 fes g wre fn
STAFAME 7

(A) TR wataen afve faer &

(B) 3= W7 & F=@ W W=

et 3w F wfa frdigd

(C) FFw i Ae-virms Wi 3 frdam &
D) 39 mft

(E) Frmmifim

T W=l a3 (sQu) F e H
Iqey Wff T = 99 F % S
frefafta @ fF sELECT Fma =
I EE E 7

(A) SELECT *." FROM table_namc;
(B) SELECT FROM table_name;

(C) SELECT all FROM table_name;

(D) SELECT * FROM table_name;
(E) AT

e = 2

(A) T WA

(B) #=g | =1

C) 57a-9=a A
(D) 34 3 F o Tl
(E) Fwafia

Presferfn & -4 ey o 7 R
CEE R T

[A) R s
(B) fem &= A3E
(C) =7 %
(D) &M &=
(E) wariaa
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%

93-

94.

95,

95.

Wi
tich of (¢ foll "R
% the mnjor
d mortality in
T8 of nge 7

cnuse of Marbigjy,
children below
(A) Accideny

(B) Dinrrhoeq) d:m:n =i
(C) AIDS -
(D) [cprosy

(E) Not attempgeq

Convert I[l'l'llt!Ill.'llll'.'ﬂ::l]2 o
hexadecimal Number, I
(A) (1BC),,

(B) (2BC),,

(C) IIAC]"

(D) (2AC),,

(E) Not attempted

Which is the medial ang larger bone
of the leg ?

(A) Tibia

(B) Patela

(C) Fermnur

(D) Radial

(E) Not attempted

The generation of erythrocyte is
called

(A) Hematopoiesis

(B) Thrombapaicsis

(C) Leukopoicsis

(D) Erythropoiesis

(E) Nat attempted

CG - MH23

93. ﬁnfaf@nﬁna&q-m F~T 5 ol 7 3w 3
‘ﬁ?ﬁmﬂkﬂﬂmmm? ?
(A) Tz
JB) i {m
IC) vzm
(D) T= 7y
(E) It

94, [ul1l_::1u11nmﬁ'r%=ﬁrr§ffzfﬁmﬁ
r

(A) (1BC),,
(B) (2BC),,
(€1 (1AQ),,
D) (2AC),,
(E} mwafem

W*
o\ L\ ©\O \ \v‘ "

95. & Wt i wdi w - & 7
(a) fofea |

Scanned with CamScanner


Free Hand Highlight

FreeText
Join Our Telegram Channel VacancyAlert.Net


97.

98.

99,

100.

Cerebrospinal (luid (CSF)
cxamination is earried oul in the
laboratory mainly for the dingnosis of
[A) Conjunctivitis oeiC)
(B) Meningitis I%ﬁ
(C) Sinusitis

(D) Keratitis

(E) Not attempted

In Python, trying to add an element

Lo a full stack results in an exception
called

(A) Empty
(C) Full
(E) Not attempted

(B) Non-cmpty
(D) Overfiow

Revised National Tuberculosis
Control Programme (RNTCP) has
achieved nationwide coverape in
(A) April 2006 (B) March 2000
{C) March 2006 (D) March 2005

(E) Not attempted

The term thrombopoicsis means
peneration of

(A) Platelet

(B) Plasma

(C) Whitc Blood Cell (WHC)

(D) Red Blood Cell (RBC)

(E) Not attempted

CG - Mipp;
97. fl’{ﬂm:ra _
i oy )
A T
(A) mﬁ?ﬁ‘&q
AB) HFrramefen
(C) Mgmfeg
(D) Frenhg
(E) iy
78 TR A 9 R ¥ v v
T w5
FAEE I B g ) .
(A) Empty (B) Non-empty
(€) Full (D) Overfiow
(E) 3wmi
99. T Tka arai Frataws
(MG w3 7
T Fat mg iy | -
(A) 71 2006  (B) 7 2000
(C) i 2006  [n) Wi 2005
(E) 3wt
100. ¥rEMRRE IR W @
Fomtor & 1
mem g
(B) T
(C) AT =Te #= (2=g.4141.)
(D] ¥z =75 ¥ (3eALH.)
(E) anni
“22.
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